[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |

- ~ 0.0] -

@ 1_— """"" [EEEEEEEEEEE R  SeaREEREEED @ E : : : ® l_— """"" T e R

2 | 2009 2

© - @ E ©

B 0.8 5.008F S 0.8k T

o] L 0} E =

< 0 ®.007F 2

L e E o Iy
0] s 1%.0062— .....................
o : : 0005;_ """""""""""""""""""""""" mli
)| VUSSR S I A AT ST 0.004f -+ +esiiereeeenendennnndnd gl L
1 0.003f++++wwrrrbrmsessss b de
0.2 O 0.002E 1 S SRR 2% [T | TR TPRISPPR PR
: 0.001F i

o Qi Ll o QF o 10—l ' '

5 T T S (O B e v
CETVIUR e R Feeeeeeed e s 1 *#+++++% 1 R i R R
R S 41 S SO SO SO i : : : ogf -1 Tk e

0.8

O- 1 1
1 10, 0? 1072 10 1 10. 0?
track ref. pomtr(crrl\) track ref. pomtr(cml)
UéIVI VOO0I_RO0O000000T __Global_CMSSW_CKfPUS0__RECO

M~V0001~R000000001Global__CMSSW_mkFitPU50LowPtQuad RECO
Fakeratevsy __, _ DQM_V0001_R000000001__Global _CMSSW_LowptQnoclean RECO"

E———— T ~ 0.07
0.8 b S S SR - $.008
: : : : : 007
13 IS SO SRR SRS SO S 006
A 0.005
% N S S W N

................................................

fakerate vs z

pileup rate vs z

duglices

................................................

I 0.008F -+ bereemebreene oo b I
0.2 0.002 02k----- R e . e

0.001
q I

Ratio
Ratio

S SSUNRUN SO SUUURU SOUSRNS USRS SO OSSO

Ratio

-

)

—0—1—:

— % N
......"T’T_.....

N

o T

30 =20 -10 0 10 20 30 B0 =20 —10 0 10 20 30 0¥/ =20 10 0 10 20 30
track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

[ Fakeratevs.simPVz | [ Duplicates Rate vs sim PV 7 | [Pileup rate vs. sim PV z |
N 0.2 , , , , , ~ 0.01 : : : : : N
> F : : : : : > : : : : :
00,18 wreenes Feeeee SRR SRREEEEE e 20.009
= ; N e i
G R S ARGt S %.008
2024tk Beenes RREERE ACCTERE SEPRE $.007
: : : : : Q
BO.12H]- |- -osee e heeeeens SEL O e ®.006
g : : : : : 0
S 0.0t : AT o RESRRRRLEE AR $.005
; pdeefeees s $.004
. . >
T4 %.003
AR SN deeens 0.002
R R oo 0.001

|i|||| q-lll

0.8

0.

[¢2)

pileup rate vs Sim. PV

04

7S HRRR SRRS SRS SR R S

ge) 2 2
@ : I IS
(oY SR N 1 ) AU @ W of ) D, deceeant o r : : : : : 24 41
: 0.5f------ oo pneee AR AR S A

15 20 %60 =40 —20 0 20 40 60 T 10 15 20
.PVz(cm) Sim. PV z (cm) Sim. PV z (cm)




	Contents
	Page 1


